AIAPGET Ayurved

Topic:- 1AYUR_S02

1) Which amongst the following is NOT a ‘Shabdarthabodhaka Vritti'?
Prafafad 3 § S weenfsive gy T8 87
1.  Tatparyakhya / aTeaiE
2. Shabdavyanjana / egaiuil
3. Yaugika/ i
4. Yogyata/ A

[Question ID = 1][Question Description = 101_7002_AYUR_OCT22_SET2_QO01]
1 [Option ID = 1]
2 [Option ID = 2]
3 [Option ID = 3]
4 [Option ID = 4]

A WN -

2)  Match List-l with Listl :

List—I List-lI
(Charaka Samhita Commentary) (Commentator)
(A) Charakopaskara (I) Gangadhara Roy
(B) Charakapanjika (1) Jejjata
(C) Jalpakalpataru (Ill)  Yogindranath Sen
(D) Nirantarapadavyakhya (IV) Swamikumar

Choose the correct answer from the options given below :

Y- & wry gl o e i

T -
(gl e &1 1) EFTHR)
(A) FHTRHR () TR AT
(B) =apufreT () <rsre
(C) HUHTE () Frfig=m &
(D) FRgeaEn (V) wErgIR
= fou o e 7 ¥ wet 39 &1 907 S

1. (A-(V); B=(1); (CH-(1); (D)~(1)

2. (AR (BI(IV); (CHIn); (D)

3. (A (B)(IV). (C}={1): (D)(11)

4. (ARIV); (B)-(11); (C)=(1); (D)~(I)
[Question ID = 2][Question Description = 102_7002_AYUR_OCT22_SET2_Q02]
1 [Option ID = 5]
2 [Option ID = 6]

3 [Option ID = 7]
4 [Option ID = 8]

A W N -



3) Which of the following words is an example of '‘Dwandva Samasa'?

FofafEs o 8 oF-91 v 'G5 9H &1 ISTE 87
1. Peetambarah / diareR:

2. Triphala / Bwen
3. Rajaputrah [ ¥ega:
4. Pitarau / BER

[Question ID = 3][Question Description = 103_7002_AYUR_OCT22_SET2_QO03]
1. 1 [Option ID = 9]
2. 2 [Option ID = 10]
3. 3 [Option ID = 11]
4. 4 [Option ID = 12]

4) Given below are two statements

Statements| : Test for occult blood is advised in uncontrolled Type-2
diabetes patients.

Statements Il : Serum crealinine examination is advised in uncontrolled
Type-2 diabetes patients to check the glomerular function.

In the light of the above statements, choose the correct answer from the options

given balow :

Py UE

HUA (1) . ofdBE myET & U & Mffw e oK B g ol
iG]

FHUF (Il) : &rﬁﬁﬁﬁzgﬁaaimaﬁwhﬁm%mﬁﬂaﬁ%gﬁm
e wam @ werg @ wd 21

JUIE BYA & e | A fu el § 9 9d I &1 904 Fife

1. Both Statement | and Statement |l are true /

YT | 3R I ST I B

2. Both statement | and Statement |l are false /

YT | 3R 1| S ST &

3. Statement | is true but Statement Il is false /
FYT | T ©, e FUF 1| 3 7

4.  Statement | is false bul Statement Il is true /
FYT | T, AfFTFU I T8

[Question ID = 4][Question Description = 104_7002_AYUR_OCT22_SET2_QO04]
1. 1 [Option ID = 13]
2. 2 [Option ID = 14]
3. 3 [Option ID = 15]
4. 4 [Option ID = 16]



5) Match List—1 with List=l :

List—I List-1I
{Dosha Prakara) (Sthana)
(A) Alochaka Pitta {I) Hridaya
{B) Shleshaka Kapha (1) Yakrit
(C) Vyanavayu () Sandhi
(D) Ranjaka Pitta (IV) Drishti

Choose the correct answer from the options given below :

T & Y -1 & e e -

- I
@ﬂﬁrﬁm E—H)
(A) sdEs Ua ) %3
(B) wYH BH () gPa
(C) =Hay (i wfy
(D) o fUe (Iv) =f®
I o e el 7 @ wE SR &1 9gA S -

1. (AR (B)Y=(); (CH-(V); (D)D)
(A1), (B)—~(IV); (C)={1); (D)=(11)
(A(IVY; (B)=(11); (CH(1); (D))
(A=(); (B)=(1); (C)=(I1); (D}=(IV)

BN

[Question ID = 5][Question Description = 105_7002_AYUR_OCT22_SET2_QO05]
1 [Option ID = 17]
. 2 [Option ID = 18]
3 [Option ID = 19]
. 4 [Option ID = 20]

AW N =

6) Which of the following vitamin promotes absorption and excretion of calcium and
phosphate by intestine?

mﬁ%ﬁ%ﬁ-mmﬁmmmm@wwﬁwﬁ
e 87

1. Vitamin A / S1a-T9 @@ A

2. Vitamin B/ Siig91g 9@ B

3, Vitamin C/ SEAgd@ C

4. Vitamin D/ SfigAg @D
[Question ID = 6][Question Description = 106_7002_AYUR_OCT22_SET2_QO06]
1 [Option ID = 21]
2 [Option ID = 22]

3 [Option ID = 23]
4 [Option ID = 24]

A WN -



7)  According to Sushruta Samhita consider the following :
A. In Koshtha, 36 siras are present
B. In Murdha pradesh, 64 siras are present
C. In Shakha, 16 siras are present
D. In Koshtha, 38 siras are present

Choose the correct answer from the options given below :

QY AR SR, e T faeR i
A FEH 36 RmEd R

B. uduemdeq RRIEE R

C. EIHeY 16 BRIEHN B

D. HEH s RWERL

- &y 7o faspedi F ¥ wad SUge SR &1 994 B ;
1. AandBonly / %dad ATd B
2. ABandConly /5a@ A, BTE C
3. ABCandD/ABCUED
4. B,CandDonly /%adB,CUE D

[Question ID = 7][Question Description = 107_7002_AYUR_OCT22_SET2_QO07]
1. 1 [Option ID = 25]
2. 2 [Option ID = 26]
3. 3 [Option ID = 27]
4. 4 [Option ID = 28]

8) According to Sushruta, given below are two statlements, one labelled as

Assertion (A) and the other is labelled as Reason (R} :

Assertion (A) : Chaturthe sarvanga pratyanga vibhag pravyakto bhavati.

Reason (R) : Saptame sarvanga pratyanga vibhag pravyaktarah bhavati.

In the light of the above statements, choose the correct answer from the aptions

given below :

Jyd 3R, 92 @ FvF Ry § uw sfimyT (A) & w v H e @ & g

39S BRON(R) FEIY -
iy (A) . aqd gaty TR A vere vafal
FROR) ¢ O AT W T TR

TR sy & orare #, A Ry e e § @ wad Suge SR & 9u

Iy -
1. Both A and R are true and R is the correct explanation of A /

AJRREIAT U E SRR, AT UEI TV &

2. Both A and R are true but R is not the correct explanation of A /

A R R TG & A R A P T8 e T8 &
3. Aistrue butRis the false /| ATME &, AT R A 8

4. Aisfalsebut Ristrue / A 3N g, TR OT 2

[Question ID = 8][Question Description = 108_7002_AYUR_OCT22_SET2_QO08]
1. 1 [Option ID = 29]
2. 2 [Option ID = 30]



3. 3 [Option ID = 31]
4. 4 [Option ID = 32]

9) According to Sushruta, match List—l with List—1| :

List-I List-I
(A) Sadya pranahara marma () Saumya
(B) Kalanatara pranaharamarma  (ll) Saumya and agneya
(C) Vishalyaghna marma (1) Agneya
(D) Vaikalyakara marma (IV) Vayavya

Choose the correct answer from the options given below :

YA TR G- & 1Y G- F7 e s :

- a1l
(A) wEmmER i 0 I
(B) HraT=RUUERHH (1)  HRI U g
(C) fagrww o () amm
(D) Sreasy o (V) are
=12 fRu e fGeedl & § wE IR &1 99 P

1. (AR (B)=(IV): (C=(1); (D}=(l)

2. (AI): (BI(IN); (CH(IV); (D))

3. (AI; (B (CHIV); (D=(1)

4. (AR (BN (CH1; (D=(IV)
[Question ID = 9][Question Description = 109_7002_AYUR_OCT22_SET2_Q09]
1. 1 [Option ID = 33]

2. 2 [Option ID = 34]

3. 3 [Option ID = 35]
4. 4 [Option ID = 36]

10)  As per Ashtangahridaya, which of the following is a cause of Koshtha to Shakha
gati of Doshas?

PITEET & SER, Faffed 3 @ F S #l oy @ TR 1 g &
1. Paka/ Ul&
2. Ahitacharana / 3{f@dTERUl
3. Vayu nigraha / a1g A48
4. Vriddhi/ gf&

[Question ID = 10][Question Description = 110_7002_AYUR_OCT22_SET2_Q10]
1. 1 [Option ID = 37]
2. 2 [Option ID = 38]
3. 3 [Option ID = 39]
4. 4 [Option ID = 40]



11) As per Ashtangahridaya __ is NOT caused due to shukra vegadharana.
HPTEeT & HUR, THATURU Y, ____ SuA T g g
1.  Shwayathu / 49Y
2. Jvara/ TR
3. Bhrama/ ¥WH

4. Mutrasanga / TR

[Question ID = 11][Question Description = 111_7002_AYUR_OCT22_SET2_Q11]
1. 1 [Option ID = 41]
2. 2 [Option ID = 42]
3. 3 [Option ID = 43]
4. 4 [Option ID = 44]

12) As per Ashtangahridaya, ‘Tantrashila' is atypeof _____
PITTEET ¥ ER, daie _ SIUSE USR B
1. Tantrayukti / S5/
2. Kalpana / &cd-]
3. Tantradosha / 3G

4. Arhashraya / 3fdfsig

[Question ID = 12][Question Description = 112_7002_AYUR_OCT22_SET2_Q12]
1. 1 [Option ID = 45]
2. 2 [Option ID = 46]
3. 3 [Option ID = 47]
4. 4 [Option ID = 48]



»

13)  The drugs having potential to precipitate ‘Torsades de pointes

A, Minoxidil
B. Quinidine
C. Quinine
D. Dopamine
E. Cisapride

Choose the correct answer from the options given below :

b fwferi 1 eafss St uigfew ear &1 amd &2

A Eeditga
B. f@iEH

c. @&

D. SuEE

E. HUREsS

Hrd e e el # © e SUgE SR &1 994 ST
1. C.AandBonly / #d0C,ATdB
2. A CandEonly / Fd0A CUdE
3. B.CandEonly / %d@B,CUdE

4. B,DandEonly / %deB,DUGE

[Question ID = 13][Question Description = 113_7002_AYUR_OCT22_SET2_Q13]
1. 1 [Option ID = 49]
2. 2 [Option ID = 50]
3. 3 [Option ID = 51]
4. 4 [Option ID = 52]

14) According to Bhavaprakash Nighantu, which odour/smell is found in best quality

Kumkum?
WAy FEUg SR, s TRgE SH &1 ST A |l 82
1. Honey mgnﬁ
2. Lotus /U3
3. Ketaki/ ! TRTE
4. Kasturi | SR

[Question ID = 14][Question Description = 114_7002_AYUR_OCT22_SET2_Q14]
1. 1 [Option ID = 53]
2. 2 [Option ID = 54]
3. 3 [Option ID = 55]
4. 4 [Option ID = 56]



15)  Match List— with List=I! :

List- List-H
(Dravya) (Latin Name)
(A) Phaleruha (I) Rubia cordifolia Linn
(B) Ashokaa (Il) Caesalpinia sappan Linn
(C) Surang (Il) Stereospermum suaveolens DC
(D) Vikasa (IV) Picrorhiza Kurroa Royle ex Benth

Choose the correct answer from the options given below :

- & Y G-I 1 e S

- -l
&) @feT )
(A) werREEl () wfem sifgwifem fm
(B) 3=t (1) ffefm do= fim
(C) WF () R genfageer B
(D) faen (V) ferpRfEen oo I0a vas a1
¥ feu mo fasei o @ wét 9w &1 994 #ifeu

1o (AHIV) (BI(1): (CH(1): (D)

2. (A(I; (B){1); (C)=(); (D(IV)

3 (A (BI=(IV); (CH(I); (D)=(1)

4. (AR(V) (B (CH(1): (D))
[Question ID = 15][Question Description = 115_7002_AYUR_OCT22_SET2_Q15]
1. 1 [Option ID = 57]
2. 2 [Option ID = 58]

3. 3 [Option ID = 59]
4. 4 [Option ID = 60]

16) According to Bhavaprakasha Nighantu, ‘Charmakasha’ is the synonym of—
WIa YT U & SR, e uafg g—

1. Red wood tree | Y8 g8 21 &1
2. Indian beech tree / 33T dfF ¢ &
3. Tooth ache tree /Y e d&
4. Pudding pipe tree / JF&T UTSU & &

[Question ID = 16][Question Description = 116_7002_AYUR_OCT22_SET2_Q16]

1. 1 [Option ID = 61]

2. 2 [Option ID = 62]

3. 3 [Option ID = 63]
4. 4 [Option ID = 64]



17) Match List—| with List=Il :

List- List-I
(Plant) (Famiily)
(A) Erythrina indica (I) Bignoniaceae
(B) Millingtonia hortensis {Il) Fabaceae
(C) Pentapetes Phoenicea (lll) Rubiaceae
(D) Wendiandia exerta (IV) Sterculiaceae

Choose the correct answer from the options given below :

-1 & Ty eI P gAfer Hifen -

S -1
(4eH) (wrfer)
(A) Uil s () frfEd
(B) Afem gt () e
(€) TremfewwifRam () =g
(D) FEdfRmumie (V) w©Ipiemd

2 fog o fawedt © & Wt SR @1 9T B
1. (A (B)=(Il); (C~(IV): (D))
2. (A (B (CHIVY); (D))
3. (A (B)y(1): (CH(IVY (D)=
4. (AR(I); (BI-(IVY; (C=(I); (D))

[Question ID = 17][Question Description = 117_7002_AYUR_OCT22_SET2_Q17]
1. 1 [Option ID = 65]
2. 2 [Option ID = 66]
3. 3 [Option ID = 67]
4. 4 [Option ID = 68]

18) Which of the following is NOT included in ‘Bala Chatustaya’ as per
Bhavaprakasha Nighantu?

HIayTe) g SR, il feue! samagea J wima & B w2
1. Pittapushpa / Wﬂ?l'gﬂiﬁ
2. Gangeruki / TiTE@!
3. Rajabala / {aiEd
4. Rishyaprokta / FSIUERI

[Question ID = 18][Question Description = 118_7002_AYUR_OCT22_SET2_Q18]
1. 1 [Option ID = 69]
2. 2 [Option ID = 70]
3. 3 [Option ID = 71]
4. 4 [Option ID = 72]



19) According to Charaka, the useful part of ‘Garagari’ for vamana is—
TP Hgd & SR, THF 5 TRERY &1 W 6—

1. Moola and Patra / 8 05 U3

2. Pushpa and Patra / Y9 Ud U5

3. Phalaand Pushpa | d Bd U

4. Phala and Moola / ¢ U4 7
[Question ID = 19][Question Description = 119_7002_AYUR_OCT22_SET2_Q19]
1. 1 [Option ID = 73]
2. 2 [Option ID = 74]

3. 3 [Option ID = 75]
4. 4 [Option ID = 76]

20) Match List-l with List-Il (As per Sushruta Sambhita) :

List-I ListI
{Mutra) {Properties)
(A) Mahisha Mutra (I} Unmadanashaka
(B) Karabha Mutra (1) Panduroganashaka
(C) Ashva Mutra (lll) Garachetovikaraghnam

(D) Gardabha Mutra  (IV) Vatachetovikaranuta

Choose the correct answer from the options given below :

-1 & oy g gy e sFuR) O gafd wifen -

-1 L=l
e (T[OTeB ™)
(A) IRy 7 (1) THEARS
(B) HRHIH (1) UEIIHRS
(C) vz () TREATEERAH
(D) T (V) arRGRERT
e fau e faweal ¥ & adt oW &1 9u S ;

1 (A1) (BI(I): (C=(11); (D}=(V)
2. (A (BY=(: (C=(); (DIV)
3. (AR (B (CHAV); (D))
4. (AR BV (C)=(I1): (D))
[Question ID = 20][Question Description = 120_7002_AYUR_OCT22_SET2_Q20]
1. 1 [Option ID = 77]
2. 2 [Option ID = 78]

3. 3 [Option ID = 79]
4. 4 [Option ID = 80]



21) Which of the following shaka is mentioned as 'Garadoshahara' by Acharya
Sushruta?

Yy F IER P A § S5 e TRENEY FEl T 87
1. Patola /U2

2. Kalashaka / TGRS

3. Mandukaparni [ GOgHTOT

4.  Vasa /(9™

[Question ID = 21][Question Description = 121_7002_AYUR_OCT22_SET2_Q21]
1. 1 [Option ID = 81]
2. 2 [Option ID = 82]
3. 3 [Option ID = 83]
4. 4 [Option ID = 84]

22) According to Sushruta 'Amia Dadima’ is—
Gy A1 & SR ‘3 aieH 8—
1. Vatashamaka / dicdRHE
2. Kaphashamaka | FEIHE

3. Vatakaphashamaka / didFHETHES

4. Tridosashamaka / BENTHE

[Question ID = 22][Question Description = 122_7002_AYUR_OCT22_SET2_Q22]
1. 1 [Option ID = 85]
2. 2 [Option ID = 86]
3. 3 [Option ID = 87]
4. 4 [Option ID = 88]



23) Match List=I with List=Il :

List-| List-lI
(Drug) {Chemical Constituent)
(A) Bhallataka () Brucine
(B) Gunja (I} Colchicine
(C) Kuchala () Semicarpol
(D) Langali (IV)  Abrin

Choose the correct answer from the options given below :

- & |y Y- F1 BaE i -

-l -1l
(&) [T T
(A)  eelldes ) s
(8) T ) FraEEE
(C) e () Iefeprde
(D) @l (V) el
2 faw e et 7 & Wt SR &1 9uA HIf

1.0 (AR (B (CHIV): (D))

(A(1); (BI(IV); (C{1); (D)=(11)

(AF(I: (BI-(IV); (CH(1); (D))

(A=(1): (B)=(IV); (C)=(II); (D)=(1)

[Question ID = 23][Question Description = 123_7002_AYUR_OCT22_SET2_Q23]
1 [Option ID = 89]

2 [Option ID = 90]

3 [Option ID = 91]
4 [Option ID = 92]

B o@ N

A WN -

24) pc __ defines grievous injury.
iR @) s s yRdu s e # ufonfia fmmn g
1.  Section 320 / YT 320
2. Section 340 / HIRT 340
3. Section 375/ YRI 375
4. Section 376 / YA 376
[Question ID = 24][Question Description = 124_7002_AYUR_OCT22_SET2_Q24]
1 [Option ID = 93]
2 [Option ID = 94]

3 [Option ID = 95]
4 [Option ID = 96]

A WN =



25) Choose the correct statements :
A. The lividity on dead body is fully developed and fixed in about 36-48 hours.
B. The lividity is developed due to gravitational force of stasis blood.
C. The lividity does not depend on position of body after death.
D. The lividity on dead body starts over the dependent part in 1-3 hours.
Choose the correct answer from the options given below :
et faum &1 e e
A. TR S 36 ¥ 48 Ul H TR 9¥ gufe: T9R 8 & 2
B. HER MRS ST T & [oarbyu ¥ TuR g g
C. TR S §Y & IWId IR & R w Rk i
D. TR HREH IR & onfia Wi wR 1 9 3 Hel | s Sm gl
I faw mu faeeat # @ Wt IeR &1 90A S -
1. Aand C wrong, B and D right / A 3R C TT&d &, B 3R D T&t 8
2.  Aand B wrong, C and D right /AJRBTEGE C GhDHE’T%
3. Aand D wrong, Band C right /A 3R D Ted &, B 3R C W81 &
4. A B, Cwrong, Dright /A, B, C T 8, D 9El @
[Question ID = 25][Question Description = 125_7002_AYUR_OCT22_SET2_Q25]
1. 1 [Option ID = 97]
2. 2 [Option ID = 98]

3. 3 [Option ID = 99]
4. 4 [Option ID = 100]

26) According to Charaka, how many types of takra are mentioned?

P F AR % - veR F &7
1. Five /9Hd
2. Two /@
3. Three /dH
4. One /TF

[Question ID = 26][Question Description = 126_7002_AYUR_OCT22_SET2_Q26]
1. 1 [Option ID = 101]
2. 2 [Option ID = 102]
3. 3 [Option ID = 103]
4. 4 [Option ID = 104]

27) \Which of the material is advised for making Tapta Khalva?

dwrEged o1 FAf A 5o 9 fargr o 82
1. Pashan / Q78707
2. Loha /®®
3. Sphatik / TBleH

4. Mrutika / gidd®T



[Question ID = 27][Question Description = 127_7002_AYUR_OCT22_SET2_Q27]
1. 1 [Option ID = 105]
2. 2 [Option ID = 106]
3. 3 [Option ID = 107]
4. 4 [Option ID = 108]

28) Who is the author of ‘Ayurved Prakash™?
HYdE U & d@® D g7
1. Ananta Dev Suri / 3d &d Il
2. Vishnu Pandit / fae uftsa
3.  Madhav Upadhyaya / HIYd 3UTEHTH
4. Narahari Bhatt / -RgR “g

[Question ID = 28][Question Description = 128_7002_AYUR_OCT22_SET2_Q28]
1. 1 [Option ID = 109]
2. 2 [Option ID = 110]
3. 3 [Option ID = 111]
4. 4 [Option ID = 112]

29) According to GMP specifications, the area recommended for manufacturing
churna is

GMP ¥ TR U TR & & e rmfig =me_ |
1. 100 sq. fi.
2. 200 sq. fi.
3. 150 sg. ft.
4. 250 sq. fi.

[Question ID = 29][Question Description = 129_7002_AYUR_OCT22_SET2_Q29]
1. 1 [Option ID = 113]
2. 2 [Option ID = 114]
3. 3 [Option ID = 115]
4. 4 [Option ID = 116]

30) According to Rasa Tarangini, which of the following process is used for
preparation of Nagabhasma?

Tl e, Fifess few [AfY 3 =y &1 Fofo e o g2
1.  Lohitikarana / Seiaeul

2. Jarana / 9RO

3. Amritikarana / S0l

4, Patana /Ul

[Question ID = 30][Question Description = 130_7002_AYUR_OCT22_SET2_Q30]
1. 1 [Option ID = 117]
2. 2 [Option ID = 118]
3. 3 [Option ID = 119]
4. 4 [Option ID = 120]



31) Charaka has advised amalaki in the management of pradara. The form he
advised is

g#mﬁﬁmﬁmﬁmaﬁmﬂ%ﬁﬁ#mmaﬂm

1. dhatri rasa with sita / 2T 39 e & &y
2. dhatri beeja kalka with sita and madhu /
Al diet Sep Ridr ud 7y & Wy
3. dhatri churna with madhu / ST <01 7Y & &Y
4. dhatri asthi churna / & 3@y of

[Question ID = 31][Question Description = 131_7002_AYUR_OCT22_SET2_Q31]
1. 1 [Option ID = 121]
2. 2 [Option ID = 122]
3. 3 [Option ID = 123]
4. 4 [Option ID = 124]

32) In mana paribhasha, according to Sharangdhara Samhita which among the
following is NOT a synonym of Drona?

%ﬂg%@mu&w%mﬁmﬁﬂ%ﬁmmmm

1. Ghata/HE
2. Rashi /=i
3. Kalash /el

4. Kumbh /&Y

[Question ID = 32][Question Description = 132_7002_AYUR_OCT22_SET2_Q32]
1. 1 [Option ID = 125]
2. 2 [Option ID = 126]
3. 3 [Option ID = 127]
4. 4 [Option ID = 128]

33) According to Rasa Vagbhata which musha is used for ‘Pottalyadi Vipachane'?

T gPHE F TR [ N &1 v Weeie e & fou fasan s g2

1. Vajra Dravana Musha / GS&1g0] 8]

2. Vajra Musha / 9% HHI

3. Malla Musha / Hodl HEHI

4. Pakwa Musha /U& 38|
[Question ID = 33][Question Description = 133_7002_AYUR_OCT22_SET2_Q33]
1. 1 [Option ID = 129]
2. 2 [Option ID = 130]

3. 3 [Option ID = 131]
4. 4 [Option ID = 132]



34) According to Sharangdhara Samhita, choose correct answer with the following
drugs in case of ‘Shadanga paneeya'?

wgeR digan # aftfa vy @1 ges go1 ) udt ugaH -

1. Musta, Parpata, Ushira, Shwetachandana, Raktachandana,
Yashtimadhu / 351, tde, 39, 44 957, 390 9, afvny

2. Musta, Parpata, Ushira, Chandana, Udichya, Shunthi /

3. Musta, Parpata, Ushira, Chandana, Pippali, Ardraka /
4. Musta, Ananta, Ushira, Chandana, Raktachandana, Shunthi /

[Question ID = 34][Question Description = 134_7002_AYUR_OCT22_SET2_Q34]
1. 1 [Option ID = 133]
2. 2 [Option ID = 134]
3. 3 [Option ID = 135]
4. 4 [Option ID = 136]

35)  According to Sharangdhara Samhita, what is the quantity of 'guggulu’ that should
be added to kwatha as a Prakshepa dravya?

TR e SFuR, @14 § Usd 50 & w4 # uge [ &1 A et g
arfee?

1. One Masha / U HET
2.  One Shana / Td =0T
3. One Karsha /| U6 &4

4. Two Shana /& 20

[Question ID = 35][Question Description = 135_7002_AYUR_OCT22_SET2_Q35]
1. 1 [Option ID = 137]
2. 2 [Option ID = 138]
3. 3 [Option ID = 139]
4. 4 [Option ID = 140]



36)

Match List—l with List-ll in

reference to Anuman Praman, (As per Charaka

Sambhita) :
List—I List-II
(A) Dhruti {(I) Grahana
(B) Medha (Il) Abhidroha
(C) Dwesha (1ny  Alaulya
(D) Krodha (V) Pratishedha

Choose the correct answer from the options given below :

[EREed TR HTHE yEm F e o) G- & Wy G- & gaid
Hifa -

et -1l
(A) () 78w
(B) B (ny  afiEe
(C) W (s
(D) By (Iv) ufesy
i feu v faeedl A § Wt IO & IgA ST

1. (A1) (BY=(IV); (C)=(1); (D)=(I1)
(A=) (BY=(1): (CH(IV): (D)=(IT)
(A=(1); (BY=(II1); (CY=(IV); (D)~(1)

2
3.
4. (AF(IV); (B)=(11); (C)=(IN); (D)-(1)

[Question ID = 36][Question Description = 136_7002_AYUR_OCT22_SET2_Q36]

1. 1 [Option ID = 141]
2. 2 [Option ID = 142]
3. 3 [Option ID = 143]
4. 4 [Option ID = 144]

37) As per Charaka Samhita, which of the following are considered as ‘Sharira

vriddhikara bhavas'?
Wt & FHR, FaffEe F =ik gfgsy ve s 8
1. Kalayega, Parinama, Samayoga, Swabhavoparama /

2. Kalayoga, Swabhava Samsiddhi, Ahara saushthava, Avighata /
3. Kalayoga, Parinama, Avighata, Ahara saushthava /
4.  Ahara saushthava, Parinama, Samayoga, Dhatupaka /

[Question ID = 37][Question Description = 137_7002_AYUR_OCT22_SET2_Q37]

1. 1 [Option ID = 145]
2. 2 [Option ID = 146]
3. 3 [Option ID = 147]
4. 4 [Option ID = 148]



38)  According to Charaka Samhita, ‘Ateetakala' is a type of

TRPURATHR ‘SAqeTeT SIS PR &
1. Tanteayukti / agfE
2. Siddhanta / frgia
3. Tantradosha / TAGY
4. Vadamargapada / GIEHTG

[Question ID = 38][Question Description = 138_7002_AYUR_OCT22_SET2_Q38]
1. 1 [Option ID = 149]
2. 2 [Option ID = 150]
3. 3 [Option ID = 151]
4. 4 [Option ID = 152]

39)  According to Madhava Nidana, “5a31 faaofan (@ gz 98- 491 yaaeuisiary

are the clinical feature of which disease?

mﬁﬁaﬁs?n-*mﬁmmwﬁﬂ:mum WIS EISTERY HHE-E I
&1 ALURE &2

1.  Jvara /&
2. Pandu /OI0g
3. Atisara | df9R

4. Krimi / $H

[Question ID = 39][Question Description = 139_7002_AYUR_OCT22_SET2_Q39]
1. 1 [Option ID = 153]
2. 2 [Option ID = 154]
3. 3 [Option ID = 155]
4. 4 [Option ID = 156]

40) According to Madhav Nidan, “Tﬁ?{fﬁﬁ HE:SETfEi“ is the clinical feature of which
Jvara?

mvE FIeF 3R, “HgeiE! He:2id $i-3 Sax & 98Ul &7
1.  Sannipataja Jvara / SFRUTE SER
2.  Sleshmapitta Jvara | eSO SaY
3. Vatabalasaka Jvara / dd€cdd waX

4. Vishama Jvara / 90 &R

[Question ID = 40][Question Description = 140_7002_AYUR_OCT22_SET2_Q40]
1. 1 [Option ID = 157]
2. 2 [Option ID = 158]
3. 3 [Option ID = 159]
4. 4 [Option ID = 160]



41)  According to Charak, “GIHdl 49% Tli- UIUgdl A SfAGMA" associated with

santapa found in which type of Jvara?

I HFER, ‘TG 4T I UUgdl A SHEEHan S A& & WY -8 w6
# ufteiam g 82

1. Kaphaja Jvara [ &Y SO

2. Satata Jvara / cd wdX

3. Punaravartaka Jvara .'Wlﬁ?hi Gl

4. Pralepaka Jvara | Uei® GaX
[Question ID = 41][Question Description = 141_7002_AYUR_OCT22_SET2_Q41]
1. 1 [Option ID = 161]
2. 2 [Option ID = 162]

3. 3 [Option ID = 163]
4. 4 [Option ID = 164]

42) According to Charak, “Mahati Neela Pidaka” is observed in which Prameha
Pidaka?
THTIIAR gl el s HiA-H wig e & 2w &1 e 87
1. Alaji / SfeTait
2. Sharavika / SIS
3., Kacchapi / 50
4. Vinata / faman

[Question ID = 42][Question Description = 142_7002_AYUR_OCT22_SET2_Q42]
1. 1 [Option ID = 165]
2. 2 [Option ID = 166]
3. 3 [Option ID = 167]
4. 4 [Option ID = 168]



43) Match List—| with List=Il (As per Madhav Nidan) :

List- List-I
(A} Vishamo Jvara Vega () Vatabalasaka
(B) Teekshna Jvara Vega (Il) Pitta Jvara
(C) Stimito Jvara Vega (L) Kapha Jvara
(D} Nityam Manda Jvara (IV) Vata Jvara

Choose the correct answer from the options given below :

-1 & Ty G-I F1 e i @nuafes oEr) :
el eIl
(A) faym s an () ardEaS
(B) deu v an () fogssR
() RfmsEan () FFwR
(D) P o= (IV) arasae
=1 feu v fawregt Ff @ wét SwR &1 90 P -
1. (A1) (BI(I); (C)=(11); (D-(IV)
(A(IV); (B(I1); (C)~(I); (D)
(A=(IV); (B (C)=(I1); (D))
(A)=(1); (B)=(11); (C)=(11); (D}=(IV)

~ BN

[Question ID = 43][Question Description = 143_7002_AYUR_OCT22_SET2_Q43]
1. 1 [Option ID = 169]
2. 2 [Option ID = 170]
3. 3 [Option ID = 171]
4. 4 [Option ID = 172]

44) According to Madhav Nidan, the site of manifestation of disease 'vyanga' Roga
is

a1 Fem SFEER, &1 W & Addd] & B 82

1. Gatra /73

2. Mukha /9@

3. Pristha /¥

4. Vankshana / 3§
[Question ID = 44][Question Description = 144_7002_AYUR_OCT22_SET2_Q44]
1. 1 [Option ID = 173]
2. 2 [Option ID = 174]

3. 3 [Option ID = 175]
4. 4 [Option ID = 176]



45) Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) (As per Charak) :

Assertion (A) -

Reason (R)

In context to Prameha Roga, it is mentioned that 10 types of
Kaphaja Prameha are Sadhya, 6 types of Pittaja Prameha are
yapya and 4 types of Vataja Prameha are asadhya.

Because of samakriyatva (H'Hfam'iﬂTE[) of kaphaja prameha,

vishama kriyatva ([duAfGg@rd) of pittaja prameha, and
Mahatyayatvat (Heldddld) in vataja prameha—leads to
sadhya. yapya and asadhya respectively.

In the light of the above statements, choose the most appropriate answer from
the options given below :

419 & sy e & wa sififeyd (A) F ©u T frfed @ & guR1 39 &Rl (R)
FFIH ([@AHHER) :

DY (A)

PRI (R)

uiE I & e # aftfd 8 &1 10 UBR & Fha UHe-a,
%H?Imﬁ?ﬁmﬁamahmmﬁmmmm
|

HARHUEN & SR Fhe Wi 91, AAisaan & SR
st UiE O IR HEldadld ' & PRI i UHE Sy

gael

IRIFT FYF & Sdte B, A9 G e 7 ¥ 99 Suge S &1 997

B -

1. Both A and R are true and R is the correct explanation of A/

ASRREATT IR AT U@ e 2

2. Both A and R are true but R is not the correct explanation of A /

ASRREAUUE APAR, ADI Ul BN 6] 8

3.  Alstrue but R is the false / A'HF?%.'&WRM%

4. AisfalsebutRistrue/ A 3T 8, AFTRTUR

[Question ID = 45][Question Description = 145_7002_AYUR_OCT22_SET2_Q45]

1. 1 [Option ID = 177]
2. 2 [Option ID = 178]
3. 3 [Option ID = 179]
4. 4 [Option ID = 180]



46) Match List—| with List=Il {As per Charak) :

List—I List—I1
(Lakshana) (Disease)
(A) Shvet-Aruna Shyavah Kandulah (1) Pama
pidaka
(B) Sakandu sasphotam sarug dalati (ll) Charmadala
(C) Sakanduh pidaka shyava (ll1) Vicharchika

(D) Svetarunabhaso tanutvachah (V) Visphota

Choose the correct answer from the options given below :

-1 F Ty GEI-1| F1 HEE S @ERERER) -

- TNl
(TTEOT) (@)
(A) AareursamEn: Hrgan: s () um
(B) THUG YIHIE THEAT (i ggE
(C) wwvg: s wmE () fEafiesT
(D) AaTeUNHTE T (V) fawmie
1= fau e fasred] 7 § et SR &1 99A St ;

1. (AR} (B)=(Il): (CH(); (D}=(IV)

2. (AHIV) (B (C(); (D)D)

3. (AR(V); (B)=(II); (C)=(1); (D))

4. (A1) (B)AI); (CHU); (DH(IV)
[Question ID = 46][Question Description = 146_7002_AYUR_OCT22_SET2_Q46]
1. 1 [Option ID = 181]
2. 2 [Option ID = 182]

3. 3 [Option ID = 183]
4. 4 [Option ID = 184]

47) As per Hathyoga Pradipika ‘Mahamudra’, ‘Mahabandha’ and ‘Mahavedh’ are
categorised under

o & HATT, TEE, Tey au Heay _ Hafipa B
1.  Mudradashaka / Hal 25

Tribandha / &

Dasha bandhas / GRER

Trimudras / BgT

[Question ID = 47][Question Description = 147_7002_AYUR_OCT22_SET2_Q47]
1. 1 [Option ID = 185]
2. 2 [Option ID = 186]
3. 3 [Option ID = 187]
4. 4 [Option ID = 188]

B o= N



48) Match List-| with List-l (as per Bhavaprakasha) :

List- List-Il
(Takra and Anupana) (Effect)

(A) Amla takra with Shunthi (I} Pittahara
and saindhava lavana

{B) Swadu takra with sita {1y Vataghna

(C) Takra with trikatu (IN). Vatahara, Arshatisarahara,
Ruchikara, Pushtikara, Balya,
Bastishulahara

(D) Ghola with Hingu, Jiraka (IV) Kaphahara
saindhava Lavana

Choose the correct answer from the options given below :

UIGSHT & I8R aPpudg 3R SFTH &1 39S T4 & 1y e -

il -l
(%P U1 3FITT) i)
(A) oo qudt auTdr@ (1) e
H Y
(B) arg oep fiar & Wy 1y
(C) e Brpg &y (1) ardes, Hiferey, e,
yideR, 564, aR@es
(D) dagm saudraaan (V) FHgR
&
I fau mu faweat #f B 9 IR &1 9 S

—

(A1); (B)=(1); (C)={111): (D}(1V)
2. (A(V); (B)=(11); (CH=(); (D))
3. (AR (B)=(1); (CH(IV); (D)=(IIN)
(A(11); (BI-(IV); (C-); (D=1}

[Question ID = 48][Question Description = 148_7002_AYUR_OCT22_SET2_Q48]
1 [Option ID = 189]
2 [Option ID = 190]
3 [Option ID = 191]
4 [Option ID = 192]

2

A WN =



49) Consider the following statement :

A. As per Bhavaprakasha, licking of Bijapuradala with Madhu is indicated at
sleep time for comfortable sleep.

B. As per Bhavaprakasha Nasajalapana with 3 prasriti water is indicated for
cure of vyanga, vali, palita, pinasa.

C. As per Bhavaprakasha Ushajalapana with 6 prasriti water is indicated.
D. Ushajalapana is tridoshashamaka.
E. As per Bhavaprakasha amshudaka in mentioned in Hemanta ritu.

Choose the correct answer from the options given below :

o R faar #if

A, MEYER & HauR 98 Fg & e 9F & a9y §iegg ga 9uf & 2Ee &
1Y =eS AW

B. AW & HauR o, gel, uftra ud U= 3 & i & o 3w A
T FraTerer U @1 R W 21

C. MWIEWET & TaruR, 6 Wy oa § Jumee uH @1 w3
D. I S BEe ums
E. WEUSE & AR, 3EE® a0 Bq § seiad 2l
=1 fau o fawel Ff 9 was IUge IR &1 90 S ;

1. AandBonly/ Had AU B

2. AandConly/ $aAdATUIC

3. A,B,DandEonly/ $ddA, B, DIUTE

4. A.BandDonly/%dd A, BTUID

[Question ID = 49][Question Description = 149_7002_AYUR_OCT22_SET2_Q49]
1. 1 [Option ID = 193]
2. 2 [Option ID = 194]
3. 3 [Option ID = 195]
4. 4 [Option ID = 196]



50) Given below are two statements :

Statement-l : Endemic Ascites is produced due to Panicum Milliare
(Gondhali) grains getting contaminated with crotalaria (locally
known as Jhunjhunia) seeds.

Statement-ll : The presence of pyrrolizidine alkaloids in crotalaria seeds
which are hepatotoxic in nature, leads to development of
Ascites.

In the light of the above statements, choose the correct answer from the options

given below :

TRaFFERTmE:

HUA (1) . UFen Mt i) v § seaia §fe @Rs ™
g & Tl § eusfie smsfe (Seiey) I BT g |

U (Il) . leTare die A Suftig RIS srepaiasy gicdeiaus
B & HRU Feie: 3T gl 8|

IRIEE HYE F e 3§ A f2u e et o @ wdt IR & 90 Fifen -

1. Both Statement | and Statement |l are true /

FUF | AR SET T E

2. Both statement | and Statement |l are false /

HYF | 3R || T S &

3. Statement | is true but Statement |l is false /
FYT | T §, Siih SYF 11 3ET 8

4. Statement | is false but Statement Il is true /

HU | U B, AT BT I I &

[Question ID = 50][Question Description = 150_7002_AYUR_OCT22_SET2_Q50]
1. 1 [Option ID = 197]
2. 2 [Option ID = 198]
3. 3 [Option ID = 199]
4. 4 [Option ID = 200]

51) After Covishield vaccination the protection level of antibodies are generally
developed

Fifasiies w915 TEIaIS! & YRETHS W) ATHGR 0% [3HEd g1 87

1. 4 weeks after 1 dose of vaccine /

AR F1 BT S & 4 IS 918

2. 2 weeks after 2" dose of vaccine /

o= 31 gl 319 & 2 IwE 9

3. 4 weeks after 2" dose of vaccine /

AR 3 gull S & 4 FE 91E

4. 2 weeks after 1% dose of vaccine /

di 1 ygel S & 2 B 918

[Question ID = 51][Question Description = 151_7002_AYUR_OCT22_SET2_Q51]
1. 1 [Option ID = 201]
2. 2 [Option ID = 202]
3. 3 [Option ID = 203]
4. 4 [Option ID = 204]



52) The ‘'window period’ for HIV is .
Hiv T et fifmes g |

1.

2.

3.

4.

4 to 20 weeks / 4 T 20 YT
6 to 20 weeks / 6 ¥ 20 UETE
4to 18 weeks / 4 T 18 UHE

2 to 12 weeks / 2 ¥ 12 UtTg

[Question ID = 52][Question Description = 152_7002_AYUR_OCT22_SET2_Q52]
1. 1 [Option ID = 205]
2. 2 [Option ID = 206]
3. 3 [Option ID = 207]
4. 4 [Option ID = 208]

53) As per Gheranda Samhita, in Shitkarama Kapalabhati

TRUS Higa FaaR, fern suraHf §

1. water is taken in through mouth and expelled out through nostrils /
e | gt dids i 7rl § aTex e 8

2. water is taken in through nose and expelled out through mouth
AftyesT 71l | ol a4 He 9 aex Frad 2

3. inhalation through left nostril, exhalation through right nostril, followed
by inhalation through right nostril and exhalation through left nostril
T ST Ty & TG o AR g AT 3y ¥ Iy Sie, e e
ATEBT T W WY T SR &N AT I8 W SIS

4. water put into right nostril through netipot and water comes out

through left nostril

il U & HTeH | gl AT 18 ¥ STel a1 Ul |1 A1 1 9
aeX ST 8

[Question ID = 53][Question Description = 153_7002_AYUR_OCT22_SET2_Q53]
1. 1 [Option ID = 209]
2. 2 [Option ID = 210]
3. 3 [Option ID = 211]
4. 4 [Option ID = 212]

54)  Which of the following statement is True as per Sushruta Samhita?

Yy dfear & naruRr FAgfefea #§ 3 @9 9 qw ad g2

1.

River flowing in western direction are apathya due to Gurudakatva /
ufém = ¥ sgd] Afel Teewd & FRO suw §

River flowing in eastern direction are pathya due to Laghudakatva /
qdfesn # gl Afedl, TYEhd & HRU Y T

River flowing in southern direction are apathya due to Gurudakatva /
afaror fermm # st ARyl TEasa & PRU g §

River flowing in western direction are pathya due to Laghudakatva /

uigny fe=n el Afedl, ayeeE & SR Uy §

[Question ID = 54][Question Description = 154_7002_AYUR_OCT22_SET2_Q54]
1. 1 [Option ID = 213]
2. 2 [Option ID = 214]
3. 3 [Option ID = 215]



4. 4[Option ID = 216]

55) According to Charak, which of the following yonivyapadas is having Shonita dusti
as a main hetu?

Acharana

Aticharana

Karnini

Upapluta

m 2 o m e

Putraghni

Choose the most appropriate answer from the options given below :

HTER, Prtes # frg dftenug &1 e 2 et &

A, SfEROT
B. Sffcravon
c. i
D. JUW
E. T

41 faw Ty fepeu F @ wa® SugEd I @1 99 S ;

1. Donly / Ha@D

2. AandBonly /| FaAATIB

3. Eonly /| BadE

4. BandConly / Fa@BauliC
[Question ID = 55][Question Description = 155_7002_AYUR_OCT22_SET2_Q55]
1. 1 [Option ID = 217]
2. 2 [Option ID = 218]

3. 3 [Option ID = 219]
4. 4 [Option ID = 220]

56) According to Sushruta, which of the following is advised for ‘yonidhupan’ in
‘garbhasanga’ chikitsa?

gya F R, g o ¥ 5w gor & mib faften § Dy & o wam g2
1. Krishnasarp Nirmok / Forad Ffe

2. Hiranyapushpi Mula / feXoaqsdl 7@
3. Vishalya Mula / faeren qa

4.  Haridra / B¥E1

[Question ID = 56][Question Description = 156_7002_AYUR_OCT22_SET2_Q56]
1. 1 [Option ID = 221]
2. 2 [Option ID = 222]
3. 3 [Option ID = 223]
4. 4 [Option ID = 224]



57) Given below ars two stalements ;
Statement-l : As per Sushruta Samhita shrama, glani, pipasa, sakthisadan,
etc. are mentioned as sadyogruhit garbhalingani.
Statement-Il : As per Charak Samhita nishthivika, gaurav, angasad. tandra
etc. are mentioned as sadyonugat garbha lingani.

In the light of the above statements, choose the correct answer from the option

given below :
TRFFERumE:
Y (1) . gy wiedrd SER ym, @, o, seies, onfe g
i st e 2
YA (Il . o e & oFER, Pidfifae, Tive, s, de enfe T
! MR g B

SRiE HUF & HES H A fu e Rew d O w9t S &1 999 P

1. Both Statement | and Statement |l are true

YT | SR |1 ST T §

2. Both statement | and Statement |l are false

YT | SR 11 ST T &

3. Statement | is true but Statement |l is false

HY | el B, aifb Y 11 T B

4. Statement | is false but Statement Il is true

HY | T B, AT HUT I TS B

[Question ID = 57][Question Description = 157_7002_AYUR_OCT22_SET2_Q57]
1. 1 [Option ID = 225]
2. 2 [Option ID = 226]
3. 3 [Option ID = 227]
4. 4 [Option ID = 228]

58) As per Charaka Samhita, which of the following Yonivyapada is observed in
Sagarbhavastha, and it is also called as 'Apraja’ yonivyapad?

AT EiiEd & R 9 T S aifesg wviaen 7 e g ofr 3
&1 3y difAeaE o Sl ST 82

1.  Vatla / Grdel

2. Upapluta / 3Udedl
Asrija / S
Paripluta / Hﬁ'ﬁﬁﬂ[

[Question ID = 58][Question Description = 158_7002_AYUR_OCT22_SET2_Q58]
1. 1 [Option ID = 229]
2. 2 [Option ID = 230]
3. 3 [Option ID = 231]
4. 4 [Option ID = 232]

s

o



59) Given below are two statements :

Statement—-| : In Charaka Samhita Ashtavidha ksheer doshas are
mentioned.
Statement-ll : In Charaka Samhita, ghanaksheer, ushna ksheer,

alpaksheer, amla ksheer and kshar ksheer are explained.

In the light of the above statements, choose the most appropriate answer from
the option given below :

TRarERumE:

P (1) . Epdea ¥ 3pfay afivem &1 aui £

HYF (II) : w ¥ gaeiR, TwielR, aruelR, armieliy 3R &RefiR &1
|

IR FY $ Tes H# 1 fFu 7 el # 3 9t 3w &1 904 S -

1. Both Statement | and Statement |l are correct

FUF | SR NI BT E

2. Both statement | and Statement Il are incorrect

HYT| 3R EH TEd &

3. Statement | is correct but Statement |l is incorrect

FUF | T 2, AT U 11 T B

4, Statement | is incorrect but Statement |l is correct

FUT | 7T B, A U 1 T B

[Question ID = 59][Question Description = 159_7002_AYUR_OCT22_SET2_Q59]
1. 1 [Option ID = 233]
2. 2 [Option ID = 234]
3. 3 [Option ID = 235]
4. 4 [Option ID = 236]

60) Keel, Pratikhur, Bijaka and Parigha-these four types of mudhagarbha are
explained by which of the following?

@id, ufaeEy, diee, odig 3 g & IR yeR e 7 9 e A Rfde a2
1. Charaka / =&
2. Sushruta / ¥¥d
3. Yogratnakara / GTREHT

4. Vagbhata / 9FHT

[Question ID = 60][Question Description = 160_7002_AYUR_OCT22_SET2_Q60]
1. 1 [Option ID = 237]
2. 2 [Option ID = 238]
3. 3 [Option ID = 239]
4. 4 [Option ID = 240]



61) Match List| with List—Il (As per Charak) :

List—1 List-I1
(Garbhini lakshan) (Month of Sagarbhavastha)
(A) Gurugatratvam (I} Garbhini saptam mas
(B) Karshyam (Il) Garbhini chaturth mas
(C) Klantatama (Il)  Garbhini pancham mas
(D) Balavarna hani (IV) Garbhini shastham mas

Choose the correct answer from the options given below:

Tfl-| T G-I | AT P GERBHER) ;

il -l
(rifoft wreron (e @1 HEHI/HR)
(A) TR ()  fifuflt Iam Ay
(B) ey () ol g o
(C) wFer=aAm () - wrfifoft dew AR
(D) weravf g1l (V) rfifoft wgm A
2 g o fredt 7 & et SR &1 9 S

1. (AD: B (CH-(I); (DV)
(AR=(I1); (B)~(l1); (C~(IV); (D)-(1)
(A(IV); (BI-(); (CH-{1I; (D))
(AW-{I1); (BI=(lIY; (C-(1); (D}-(IV)

Pl

[Question ID = 61][Question Description = 161_7002_AYUR_OCT22_SET2_Qé61]
1. 1 [Option ID = 241]
2. 2 [Option ID = 242]
3. 3 [Option ID = 243]
4. 4 [Option ID = 244]



62) Match List—I with List=Il (As per Sushruta) :

(A)

(B)

(C)

(D)

List=I
(Garbhastrav chikitsa
masanumasik kashay-name)

Madhuk, Shakbeej, Payasya, 1]
Suradaru

Ashmantak, Tila, Krishna, {n
Tamravalli, Satavari

Vrikshadani, Payasya, Lata, (1T}
Sariva (Utpal)

Ananta, Sariva, Rasna, (V)
Padma, Madhuk

List=Il
(Month of sagarbhavastha)

Tritiya mas

Pratham mas

Chaturth mas

Dwitiya mas

Choose the correct answer from the options given below :

TEil-1 1 -1 & gaferd P (gE EER) -

(A)
(B)

(C)

(D)

1.
2z,
3.
4.

-
(e e TS
BEY-TH)

T, Wdwat, U0, Geare n

-l

(FTHIEET @
He 1/4T)

o A

3revdas, fod, Swn, argaed! () gy Ay
T[Tt

e, uTe, o, wiar @we (1) 9gd w9y
ST, T, T, UaT, AY® (IV) fedta ar

T fgu o owedl & § wdt I &1 v Fifon

(A1) (B)=(); (CHI); (DI(IV)
(A (BI(IVY: (C)=(1); (D}H1I)
(AHIV): (B)=(IEY:; (CH=(11): (D))
(A=) (BI=(1): (CHOV): (D)

[Question ID = 62][Question Description = 162_7002_AYUR_OCT22_SET2_Q62]
1. 1 [Option ID = 245]
2. 2 [Option ID = 246]
3. 3 [Option ID = 247]
4. 4 [Option ID = 248]

63) How many doses of BCG vaccing is given to a child as per National Immunization
Schedule/Universal Immunization Program Schedule, 20157

TI'E}I'C{ wARIPTEHI HTHH (Mational Immunization Schedule/UIP Schedule 2015)
& TR 91, T N, (BCG) ! fha ar R s 8 7

1.

&

3.

4.

Single dose / U& €
Two doses | 81 &F
Three doses / 99 &R

Four doses / 9X &¥

[Question ID = 63][Question Description = 163_7002_AYUR_OCT22_SET2_Q63]
1. 1 [Option ID = 249]
2. 2 [Option ID = 250]
3. 3 [Option ID = 251]



4. 4 [Option ID = 252]

64) Given below are two statements ;

Statement (I) : According to Vagbhata, ‘Kukunaka' is a disease of dentition

period.

Statement (Il) :  According to Sushruta, 'Kukunaka' is a disease of dentition
period.

In the light of the above statements, choose the correct answer from the options

given below.

MR ARy

YA (1) : APYEHAFER, THUS U Gl oy oid g |

@YU (IN) . YYTHAER, TEUS U Galdiied el 21

IR HYA S e 7, i Ry e Rewl | @ wdt ow s 9g7 S
1. Both Statement (I) and Statement (Il) are true /
FUA (1) 3R (11 2 T B
2. Both Statement (1) and Statement (Il) are false /
FA (1) SR (1) S SR &
3.  Both Statement (1) is true but Statement (I} is false /
HY (1) T B, A DY (11) 3T &
4.  Both Statement (1) is false but Statement (I} is true /
FU (1) 3T &, AT HYE (1) THE

[Question ID = 64][Question Description = 164_7002_AYUR_OCT22_SET2_Qé64]
1. 1 [Option ID = 253]
2. 2 [Option ID = 254]
3. 3 [Option ID = 255]
4. 4 [Option ID = 256]

65) The treatment by ‘Kshara sutra’ is indicated in which disease of children by
Kashyapa?

&R g g il arae) & FE-3 sy # sy 3 gam 82
1.  Mahapadma / Hg9H
2. Arikilika / Sifx@iferET
3. Nilika / =fiferar
4. Gudapaka / aHl®

[Question ID = 65][Question Description = 165_7002_AYUR_OCT22_SET2_Q65]
1. 1 [Option ID = 257]
2. 2 [Option ID = 258]
3. 3 [Option ID = 259]
4. 4 [Option ID = 260]



66)

Given below are two statements, one is labelled as Assertion (A) and the other

is labelled as Reason (R) :

Assertion (A) :

Reason (R)

Upaveshana Samskara should be initiated at 6 months of age,
and then onwards the child can be made to sit by self on the
ground but should not be seated for longer period of time.

The Upaveshana Samskara to be done at 6 months of age
and the child should not be seated for long time due to fear of
shramaja jwara, kati daurbalya etc, condition.

In the light of the above two statements, choose the correct answer from the
options given below.

13 31 $yA 3w U § v Sifiieyd (A) & &9 A [fEa § df g80 99% SR (R)

HEUH:
HIUHYA (A)

FR (R)

JUAYH YEHR Od dI6d & 6 7Y g9: H YRR &1 18T, Tyl
e & d10d & aHA | 39 3419 [9aF1 & Uty agd el 99g

EERCGIE IR

JUANH YEHR Od 17 & 6 A g9: H TR 631 9180, IR=
TEd T YA 9@ [9EH U YHS SO, $el qaed oS B &

WO TR B |

IR B & e H 9 Be e el 3 9 wd I &1 994 Fife :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)
(A) 3R (R) S 9= & 3R (R), (A) P! W6 =T @
2. Both (A)and (R) are true but (R) is NOT the correct explanation of (A)
(A) 91R (R) G B €, A (R), (A) B 6 ST 6l 8
3. (A)is true but (R) is false
(A) O §, A5 (R) 39 8
4. (A)is false but (R) is true
(A) 35 g, dfF (R) T &

[Question ID = 66][Question Description = 166_7002_AYUR_OCT22_SET2_Q66]

1. 1 [Option ID = 261]
2. 2 [Option ID = 262]
3. 3 [Option ID = 263]
4. 4 [Option ID = 264]



67) Match List—| with List—I :

List— List-ll
(A) Down's Syndrome ()  Autosomal recessive
(B} Turner Syndrome (I) Trisomy 13

(C) Beta-Thalassemia (1)  Webbing of neck

(D) Patau syndrome (IV) Trisomy 21

Choose the correct answer from the options given below :

-1 Y G- B gt i

- -
(A) =3 fiigm () offewina iR
(B) =Rk Rigm (1) ergEEt 13

(C) srer-demdfim ()  afeF offts 3%
(D) urers figm (V) greemdt 21
2w fepedl @ WEt IR 31 999 P :
1o (AR (BY=(I); (S (DI(1V)
(A-(1); (BI{IV); (C)(II); (D)-(11)
(A(IV); (BI(IY; (C(1); (D))
(A(I) (B)=(I1): (CH(U): (D(IV)

-l -

[Question ID = 67][Question Description = 167_7002_AYUR_OCT22_SET2_Q67]
1. 1 [Option ID = 265]
2. 2 [Option ID = 266]
3. 3 [Option ID = 267]
4. 4 [Option ID = 268]

68) According to Sushruta Samhita, the disease ‘Vrushana kachchu' is dominated
by which dosha?

Tyafedr SUR guH=s 91 guUEESS olift H SF-91 21N WUl 82
1. Pitta-Rakta / f09-3ad
2. Shleshma-Rakta [ To/S7-Tad
3. Pitta-Vata / fi-am@
4. Vata-Kapha / 9ld-&h
[Question ID = 68][Question Description = 168_7002_AYUR_OCT22_SET2_Q68]
1. 1 [Option ID = 269]
2. 2 [Option ID = 270]

3. 3 [Option ID = 271]
4. 4 [Option ID = 272]



69) Given below are two statements :

Statement (I) : The weaning to be started when teeth eruption staris
according to Ayurveda.

Statement (Il) :  The weaning to be started only after completion of one year

of age.
In the light of the above statements, choose the correct answer from the options
given below.
43 d v e e §
Y (1) : 3Ngde AAHER WEUAEE Ui edidft 819 U URI &
afgul
H2 (II) - TYEEA Ui U 9T a9: UfE 61 TR WR S =9hfen|

IURIe $UF & sdie 1, T fau U Beeui # € uel 39 &1 9 S

1. Both Statement () and Statement (ll) are true
U (1) SR (1) D g &
2.  Both Statement (l) and Statement (Il) are false
o (1) 3 (1) 3T S &
3. Both Statement (l) is true but Statement (l1) is false
B (1) T &, A Y (1) ST
4. Both Statement (l) is false but Statement (ll) is true
B (1) 3T B, AFAFUT () TI B
[Question ID = 69][Question Description = 169_7002_AYUR_OCT22_SET2_Q69]
1. 1 [Option ID = 273]
2. 2 [Option ID = 274]

3. 3 [Option ID = 275]
4. 4 [Option ID = 276]



70) Match List| with List=Il :

List—| List=lI
(A) Indrani Taila {1 Phakka Roga
(B) Raja Taila ()  Rajayakshma
(C) Lakshadi Taila [{11H] Navajata Shishu
(D) Bala Taila (IV) Bala Shosha

Choose the correct answer from the options given below :

i1 & -1 | gAfed Hifen :

T Gig]
(A) sl da () e
(B) TS A (1 T
(C) wmenfs; e () e fRrg
(D) sanda (V) ey
412 faw el & & wet Iw o 9uE #if

1. (AR (BRI (CH(); (D)=(1V)

2. (AR (B)y(1) (CH(IVY (D=1

3. (A (BIIV); (C)-(1); (D))

4. (A-(V); (B, (CH=(1); (D))
[Question ID = 70][Question Description = 170_7002_AYUR_OCT22_SET2_Q70]
1 [Option ID = 277]
2 [Option ID = 278]

3 [Option ID = 279]
4 [Option ID = 280]

A W N =

71)  As per Charak,
“3feITed SgEI Tad UNEHuavad|
U3l agfdasy F R araan |-
Which Basti is administered in this condition of Atisara?
APTHR
= 3fedTed FgR I SYEHaRad]
Te1 aryfdasy Fwd axfa a e
HfER @1 59 /e # H-4t afey vged &1 ol 87
1. Matra Basti / 5 &%
2. Uttara Basti / IR aftd
3. Pichha Basti / it aftq
4. Anuvasana Basti :'GEI,EI'E'_\‘:HH%

[Question ID = 71][Question Description = 171_7002_AYUR_OCT22_SET2_Q71]
1. 1 [Option ID = 281]
2. 2 [Option ID = 282]



3. 3 [Option ID = 283]
4. 4 [Option ID = 284]

72) According to Charak what is the chikitsa Siddhanta of ‘Purishavritta Sneha’?
WHER, ‘e vy & ik Rga s e

1.  Gulmahara / eHeR
2. Vibandhahara / fa@egy

3. Udavartahara raa:aész
4. Udarashoolahara / 3G¥=]d6Y

[Question ID = 72][Question Description = 172_7002_AYUR_OCT22_SET2_Q72]
1. 1 [Option ID = 285]
2. 2 [Option ID = 286]
3. 3 [Option ID = 287]
4. 4 [Option ID = 288]

73) According to Charak “Hellgfd &S0l HeFaHY S99 is mentioned for which of

the following virechana Dravya?

TREFHR, "Feedda S Heranf deun e @ e i3s3 e g &

ford Fg1 &2
1. Trivruta / BEd
2. Sudha /gl
3. Saptala /9ol
4. Danti /g

[Question ID = 73][Question Description = 173_7002_AYUR_OCT22_SET2_Q73]
1. 1 [Option ID = 289]
2. 2 [Option ID = 290]
3. 3 [Option ID = 291]
4. 4 [Option ID = 292]

74)  According to Charak, ‘8% [UIfciai 9 H9R §d is the lakshana of which of the
following condition?

TP SR, T UUiiaeH 9 9ar o —Falaiea 4 O fow &1 asu g2
1. Urustambha / FFT™
2. Prameha / WHE
3. Raktavrita vata / Tedigd did
4. Mamsavrita vata / ARIGT 910
[Question ID = 74][Question Description = 174_7002_AYUR_OCT22_SET2_Q74]
1. 1 [Option ID = 293]
2. 2 [Option ID = 294]

3. 3 [Option ID = 295]
4. 4 [Option ID = 296]



75)  Given below are two statements :
Statement (I) : Rakta mokshana is contraindicated in Avabahuka.
Statement (Il) : Raktamokshana indicated when Rakta is involved.

In the light of the above statements, choose the most appropriate answer from
the options given below.

:ﬁ%ﬁﬁﬁlﬂﬁf{ﬂ'@%
U (1) : TE-HiE0 SEagS H e
YA (Il) . O T T SIE ST ¢ il Ye-FIeT g faa S 8

IURIad HYA] & STl |, A fEu u fAwed # | wdt I & 99 Bt

1. Both Statement (1) and Statement (1) are correct
T (1) S (11) &A1 E §
2. Both Statement (l) and Statement (ll) are incorrect
HYA (1) 3 (11) S ore &
3. Both Statement () is correct but Statement (ll) is incorrect
HYA (1) T 8, b B (11) T &
4. Both Statement (1) is incorrect but Statement (Il) is correct
HYF (1) AT B, A FUF (Il) TH &
[Question ID = 75][Question Description = 175_7002_AYUR_OCT22_SET2_Q75]
1. 1 [Option ID = 297]
2. 2 [Option ID = 298]

3. 3 [Option ID = 299]
4. 4 [Option ID = 300]

76) According to Vagbhata, ‘Tamboola Sevana’ is contraindicated in which of the
following condition?

ATYSTRIR, dige e Prafeiied g sewn 1§ Pifte 22

1. Amavata / HHdId

2. Moorcha | =31
3. Grahani / #gult
4. Jvara /X

[Question ID = 76][Question Description = 176_7002_AYUR_OCT22_SET2_Q76]
1. 1 [Option ID = 301]
2. 2 [Option ID = 302]
3. 3 [Option ID = 303]
4. 4 [Option ID = 304]



77) According to Sushruta Samhita, 'Shleepada’ sets manifested in which layer of

Twak?
YT SER, TG AT 1 F Y WR F oIad a1 87
1. Lohita / @ifgd
2. Tamra /dH
3. Rohini / Jfeuit
4. Vedini / 3R2F

[Question ID = 77][Question Description = 177_7002_AYUR_OCT22_SET2_Q77]
1. 1 [Option ID = 305]
2. 2 [Option ID = 306]
3. 3 [Option ID = 307]
4. 4 [Option ID = 308]

78) According to Vagbhata, is indicated along with Gomutra in the treatment
of Shwitra Kushtha.

amig S oaar, i P e damsan_ FEREE

1. Khadira /@63
2. Chitraka / s
3. Haritaki / SXd®!
4. Bimbi / fawet

[Question ID = 78][Question Description = 178_7002_AYUR_OCT22_SET2_Q78]
1. 1 [Option ID = 309]
2. 2 [Option ID = 310]
3. 3 [Option ID = 311]
4. 4 [Option ID = 312]

79) According ta Charak ‘Bilwa salatu’ is indicated in the treatment of
REIR, @ gae & guan # FERa frarman 3
1.  Shiroegata vata / RRITE G|
2. Hridayagata vata / §&dTd dld
3. Nabhitgata vata / FTH7Td aTd

4. Garbhagata vata / WA a1d
[Question ID = 79][Question Description = 179_7002_AYUR_OCT22_SET2_Q79]

1. 1 [Option ID = 313]
2. 2 [Option ID = 314]
3. 3 [Option ID = 315]
4. 4 [Option ID = 316]
80) According to Vagbhata, Uy Ug Y9G is the lakshana of
PUETIIR, T T8 YN’ 9T Ta 8
1. Vataja Unmada / 9ld9 3
2.  \ataja Madatyaya / 9fda HEldd
3. Vataja Apasmara / gl SUEHR

4. Apatantaraka / SUd<d



[Question ID = 80][Question Description = 180_7002_AYUR_OCT22_SET2_Q80]
1. 1 [Option ID = 317]
2. 2 [Option ID = 318]
3. 3 [Option ID = 319]
4. 4 [Option ID = 320]

81) According to Vagbhata 'krichrat Charvana Bhashanam' is the lakshana of

FPYETFER, Fe5Td 9407 HTYor HT AL
1. Jihwagata vata / forgrTa @

2. Hanusramsa / §T9Y

3.  Mookatwa [ HFd
4. Ardita / 3f@d

[Question ID = 81][Question Description = 181_7002_AYUR_OCT22_SET2_Q81]
1. 1 [Option ID = 321]
2. 2 [Option ID = 322]
3. 3 [Option ID = 323]
4. 4 [Option ID = 324]

82) According to Vagbhata, Nasya in Shishira Ritu should be administered in which

kala?
anEER, AR sy drm @ waw 2
1. Poorvahna Ifj\ﬁr@

2. Madhyahna [/ BElg

3. Aparashna / 3U0g

4. Nishi /TR
[Question ID = 82][Question Description = 182_7002_AYUR_OCT22_SET2_Q82]
1. 1 [Option ID = 325]
2. 2 [Option ID = 326]

3. 3 [Option ID = 327]
4. 4 [Option ID = 328]

83) According to Sharangadhara, Bibhitaka Putapaka is NOT indicated in
MR & AaTR, fofiae geurs o wan g 3 9 s e = o mar g2
1. Kasa /&9
2. Shwasa [ 49
3. Swarabhana / TXHT
4. Rajayakshma [ ISTUEH]
[Question ID = 83][Question Description = 183_7002_AYUR_OCT22_SET2_Q83]
1. 1 [Option ID = 329]
2. 2 [Option ID = 330]

3. 3 [Option ID = 331]
4. 4 [Option ID = 332]



84) According to Vagbhata, uttara basti matra in malesis __
APHE & R G5 H StRara d@ gl
1. Karsha Matra /&Y T
2. Shukti Matra / g A
3. Pala Matra /U HHEI
4. Pala dwaya Matra / Geigd HIAT
[Question ID = 84][Question Description = 184_7002_AYUR_OCT22_SET2_Q84]
1. 1 [Option ID = 333]
2. 2 [Option ID = 334]

3. 3 [Option ID = 335]
4. 4 [Option ID = 336]

85) Match List—I with List-Il (As per Charak) :

List=I List=I
(Bheshaja) (Vyadhi adhikara)
(A} Sitopaladi churna () Shwayathu Chikitsa

(B) Hingwadi churna Gutika () Kustha chikitsa
(C) Madwasava (Ill)  Rajayakshma chikitsa
(D) Kamsa Haritaki (IV) Gulma chikitsa

Choose the correct answer from the options given below :

-1 B -1l § GATE P (SRHTER) -

- peigl
() @y sifireR)
(A) Rdigenfs gof () %oy fafee
(B) fewarfe guf qfew (1) oy e
(C) wigrwg () rerae fafpem
(D) &ggRas! (V)  Ten fafdrem
412 feg m faeedl & & Wt SR 199 PR :

1. (AR(V); (B)(1); (C=(Hi1); (D))
(A=), (B)=(IV); (C=(I1); (D)(1)
(AW(IV); (BY=(II1); (C=(1); (D){11)
4. (A (B (CHIV); (D=1
[Question ID = 85][Question Description = 185_7002_AYUR_OCT22_SET2_Q85]
1. 1 [Option ID = 337]
2. 2 [Option ID = 338]

3. 3 [Option ID = 339]
4. 4 [Option ID = 340]

2.
3.



86) As per Sushruta Samhita, Match List—| with List=I! in reference to "DWADASHA

PRASRUTA BASTI" :
List—| List=I
(Ingredients) (Proportion)
(A) Madhu (I) 4 Prasruti
(B) Sneha (I) 3 Prasruti
(C) Kalka (1) 2 Prasruti
(D) Kashayam (IV) 1 Prasruti

Choose the correct answer from the options given below :

Y SR Gl WygaeRa & da 7 gui-1 # gel-n 9 gafed S -

- -

(Uesd 5d) (M HTIY)

(A) 7Y ) 4 vy

(8) W s vl

(C) wHew (I 2 wyfd

(D) wuEH (v) 1 wgfa
w7 faeedt & Wl Swv &1 90 Ffey

—

(A)=(I1); (BJ=(I1); (C}=(IV); (D)—(1)
2. (A1) (B)-(IV); (CH(I); (D))
3. ARV (B (CH(I); (D)=(I)
4. (AR (By(H); (CHIV): (D))
[Question ID = 86][Question Description = 186_7002_AYUR_OCT22_SET2_Q86]
1. 1 [Option ID = 341]
2. 2 [Option ID = 342]

3. 3 [Option ID = 343]
4. 4 [Option ID = 344]



87) Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : According to Charak ‘Tarpanadi Kramam' is advised in case
of “Alpa vishuddhi of kapha pitta".

Reason (R) : Tarpana provides immediate nourishment.

In the light of the above two statements, choose the most appropriate answer
from the options given below.

gﬂﬁr?ﬁﬁqw?waﬁmﬂm} & wq ¥ fofEd 8 df S99 39% &R (R)
EOH:

AHUFYT (A) . WEHER, FF U9 F o i & adun w0 &1 wm e
Ieu|

HRT (R) . YT R U R 8
TURIER HYH & e B, 419 f2u o et @ wd o o 9ge Fifn
1. Both (A) and (R) are correct and (R) is the correct explanation of (A)
(A) 3R (R) EIFT T & 3R (R), (A) ! Te! ORam 8

2. Both (A) and (R) are correct but (R) is NOT the correct explanation
of (A)

(A) ¥R (R) 21 5 B, &fd (R). (A) 1 wel aren e @

3. (A)iscorrect but (R) is not correct
(A) T 8, ofF (R) 3 @
4. {A)is not correct but (R) is correct
(A) 37 B, 9 (R) TT @
[Question ID = 87][Question Description = 187_7002_AYUR_OCT22_SET2_Q87]
1. 1 [Option ID = 345]
2. 2 [Option ID = 346]

3. 3 [Option ID = 347]
4. 4 [Option ID = 348]

88) According to Charak, In context to phalashruti of upanaha ‘THI g% f&ar
e HdH" is indicated for which of the following conditions?

WHHNR, IUE 31 wayfa & gd § v 9 Rw g3eeh fAa saw @
e o 2 @ e A |

1. Shoola pariharartham / e GRERY

2. Vidaha pariharartham / fagrg uftgrmd

3. Sheeta paritharartham / Sia aftgrrd

4. Stambha paritharartham / &/ URERIY
[Question ID = 88][Question Description = 188_7002_AYUR_OCT22_SET2_Q88]
1. 1 [Option ID = 349]
2. 2 [Option ID = 350]

3. 3 [Option ID = 351]
4. 4 [Option ID = 352]



89) According to Sushruta, which of the following 'kwatha' is used in "Yuktharatha
Basti'?

Ty R, Fofafed 3 8 Fr-a sy goeey 9% 3 vge diar €

1. Dashamula kwatha / 2IHd H1Y

2. Guduchi kwatha / g4l &1

3. Erandmula kwatha / TIUSHE 1Y

4. Triphala kwatha / Btar &1y
[Question ID = 89][Question Description = 189_7002_AYUR_OCT22_SET2_Q89]
1. 1 [Option ID = 353]
2. 2 [Option ID = 354]

3. 3 [Option ID = 355]
4. 4 [Option ID = 356]

90) According to Charaka Sambhita which of the following ‘matra of snehapana’ is
mentioned as '‘Doshanukarshini'?

w@fﬁm%mﬁuﬁr@aﬁ%ﬁmaﬂaﬁﬁm%ﬁqﬂwﬁuﬁﬁ
T

1. Rhaswa matra / 85 HH]

2.  Madhyam matra / HE&H HHEH]

3. Uttam matra / 35 HIEF

4. Rhasiyasi matra / 8RRy A=
[Question ID = 90][Question Description = 190_7002_AYUR_OCT22_SET2_Q90]
1. 1 [Option ID = 357]
2. 2 [Option ID = 358]

3. 3 [Option ID = 359]
4. 4 [Option ID = 360]



91) Consider the following :

g R fer Fifo

A,

Klama vyapad is caused when Mridu sheeta and Alpa Basti is given
to a patient having krusakoshtha, Tivradosha and Durbalata.

g, =i, areq afd o digely, gad taw Hees sfad ®1 &7 W aan
U S 8

When Alpa veerya Basti in given to a patient having mahadosha
Rukshata, krurakoshtha causes Adhmana vyapad.

HEIEY, T8 UaH G 18 aifaa B 3ied drdar afe &4 UR ST
&g HYal 2

Parisrava vyapad is caused when Mridu Niruhu Basti is given in
Amashesha Avastha.

SR syt g e o 83 R oRemm amg #Ran 8

Pravahika vyapad is caused when Mridu and Alpa Bheshaja Basti is
given to a patient having mahadesha and undergene snehana,
svedan

ey, (s vaw, AeTEIY © goa aufaa &) gg ofed NN gad §ied &1 I
yaIfRe! STIE &1 S 2|

Choose the correct answer from the options given below :

i feu e el d 9 wdt o &1 997 Sl
1.  Aand B enly / ad A T3H B
2. CandDonly/&dd C T&@HqD
3. AandConly/Fad ATGHC
4. BandDonly/%d@BTEHD

[Question ID = 91][Question Description = 191_7002_AYUR_OCT22_SET2_Q91]
1. 1 [Option ID = 361]
2. 2 [Option ID = 362]
3. 3 [Option ID = 363]
4. 4 [Option ID = 364]



92) Read the following statement of Dalhan and choose the correct options :
S ¥ SR T B A A R
A, Vasti yantra is of one type. / 3f%1 I U UHR HIEA T
B. Bhagandara yantra is of two type. { HIT<{ T B SR FIE 2|

C. Sanniruddha guda yantra is of one wpe.!mwmﬂﬂ%I
D. Arshayantra is of three type. / gfgd TR UER F I
Choose the correct answer from the oplions given below !
el o 7 faesedl | & WEt IR &1 =0 Sife :
1. Aand B only / $dd A Ta B
2. A BandConly/$adA, BTaHC
3. AB,CandDonly/A, B, CTHD
4. BandConly/®ad B TaH C

[Question ID = 92][Question Description = 192_7002_AYUR_OCT22_SET2_Q92]
1. 1 [Option ID = 365]
2. 2 [Option ID = 366]
3. 3 [Option ID = 367]
4. 4 [Option ID = 368]

93) According to Sushruta, ‘Krishnonnata vranata’ is the character of which of the
following Dagdha?

YT IR, siferEd el O § Sy gur fEue aame?

1. Tvaka/™d&H

2. Mansa/#H¥

3. Sira Snayu/ RR1EMg

4. Asthi Sandhi / 3Ry i
[Question ID = 93][Question Description = 193_7002_AYUR_OCT22_SET2_Q93]
1. 1 [Option ID = 369]
2. 2 [Option ID = 370]

3. 3 [Option ID = 371]
4. 4 [Option ID = 372]

94) For Rectal carcinoma 5 cm from anal verge the best acceptable operation
is

Anal verge ¥ 5 cm g2 {920 H-ER P 010 Ga4 IUTFd Il §

1. Anterior resection / Tffter Rdamm

2. Abdominal-perineal resection fﬂﬁ’ﬂﬁ?ﬂ—ﬁﬂﬁ'&ﬁmﬁ

3. Posterior resection / TRERIR Fe¥awH

4. Hartman's procedure / BTIER-H TSR
[Question ID = 94][Question Description = 194_7002_AYUR_OCT22_SET2_Q94]
1. 1 [Option ID = 373]
2. 2 [Option ID = 374]

3. 3 [Option ID = 375]
4. 4 [Option ID = 376]



93) Which of the following is the most dangerous position of appendix?
S HTaE e ) HiF-H Ruf et 82
1. Retrocecal / Elifb@d
2. Paracolic/ TS Ift®

3.  Retroperitoneal / YeraRegd
4.  Pelvic/ Ofcad®

[Question ID = 95][Question Description = 195_7002_AYUR_OCT22_SET2_Q95]
1. 1 [Option ID = 377]
2. 2 [Option ID = 378]
3. 3 [Option ID = 379]
4. 4 [Option ID = 380]

96) Morning spurious diarrhoea is seen in which of the following condition?
T g Tl v 2 A S W &7
1. Rectal prolapse / Y86 Uiawg
2. Rectal carcinoma / Y0d H~EX
3. Ulcerative colitis / @R BlaEied
4. Crohn's disease / -9 %?ﬁi{

[Question ID = 96][Question Description = 196_7002_AYUR_OCT22_SET2_Q96]
1. 1 [Option ID = 381]
2. 2 [Option ID = 382]
3. 3 [Option ID = 383]
4. 4 [Option ID = 384]

97) According to Sushruta 'Seevana karma' is indicated in which of the following
vranas?

YYAER Higd o fFuuer g d Ay &2

1. Ksharagnivishairjushta / BRTTITASSIST
2. Chalasandhivyapashrita / SEEaIU:

3. Antarlohita Shalyaj / SF@lied ede
4. Marutavaheena / HR=TalRI

[Question ID = 97][Question Description = 197_7002_AYUR_OCT22_SET2_Q97]
1. 1 [Option ID = 385]
2. 2 [Option ID = 386]
3. 3 [Option ID = 387]
4. 4 [Option ID = 388]



98)  Match List~ with List-Il (As per Sushruta) :

List- List-|
(Characteristics of Urine) (Disease)
(A} Rochanchurna sannibham () Mutrashukra

(B} Shankhachurna sadrushya (Ily  Pittaja mutraukasad
(C) Bhasmodaka patikasham (1) Ushnavata

(D) Haridra varna (IV) Kaphaja mutraukasad

Choose the correct answer from the options given below :

T F T T Tike FRT o F R wE Y B W F 9y giRE
B (YT IHR) -

il -
(03 &1 ) @m
(A)  Frerrerof Wi () ELF
(B) wrEew wEw™ () fore ey
(C) weies afam (1) IwE
(D) @iz aof (V) T gEHEaE

+rat few o el o @ wél SWR &1 994 B :
1. (A (B (S (D}=(1V)
(A=(11); (B)=(IV); (C)=(1); (D)=
(A(IV); (BY=(1); (CH(IL1); (D)=(11)
(AW-(IV); (BI=(11; (C)=(1); (D)~(11)
[Question ID = 98][Question Description = 198_7002_AYUR_OCT22_SET2_Q98]
1. 1 [Option ID = 389]
2. 2 [Option ID = 390]

3. 3 [Option ID = 391]
4. 4 [Option ID = 392]

A

99) According to Sushruta, before rakta-mokshana which type of ahara is given?
HYATHR IHIE0 g IF7 B 58 THR H1 AR & o g7
1. Laghu Anna/ dg =
2. Pichchhila Anna / fafese 3@

3.  Yavagu/Ydr]
4. Laghu and Snigdha Ahara / ngﬁm GBI

[Question ID = 99][Question Description = 199_7002_AYUR_OCT22_SET2_Q99]
1. 1 [Option ID = 393]
2. 2 [Option ID = 394]
3. 3 [Option ID = 395]
4. 4 [Option ID = 396]



100) According to Sushruta, which Shastra is used for Lekhana karma?
YA SR, BH-91 O o B § Wged gl 87

1. Vriddhipatra / 3f&0

2. Vrihimukha / #gHE

3. Trikurchak / e

4. Mandalagra / HSelid
[Question ID = 100][Question Description = 200_7002_AYUR_OCT22_SET2_Q100]
1. 1 [Option ID = 397]
2. 2 [Option ID = 398]

3. 3 [Option ID = 399]
4. 4 [Option ID = 400]

101) According to Sushruta ‘Gairikodaka pratikasham' is the feature of Rakta vitiated
by which one of the following Doshas?

FYTHER RPIgH Ui 50 a9 ¥ gF 90 51 T80 87

1. Vata/dW

2. Pitta/ 0w

3. Kapha &%

4. Tridosha | g
[Question ID = 101][Question Description = 201_7002_AYUR_OCT22_SET2_Q101]
1. 1 [Option ID = 401]
2. 2 [Option ID = 402]

3. 3 [Option ID = 403]
4. 4 [Option ID = 404]



102) Given below are two statements, one is labelled as Assertion (A)and the other
is labelled as Reason (R) :

Assertion (A) : According to Vagbhatta, in chikitsa of krimidanta dahana with
Tapta Shalaka is indicated.

Reason (R) : Dahana karma destroys the existing krimis and also checks
the further progression.

In the light of the above two statements, choose the most appropriate answer
from the options given below.

fﬁgﬁﬁﬁqw%waﬁﬁmm; & wY H fofEd § df g9U 39% &R0 (R)
=0H:

AFBYA (A) :  ATE SR, e @ Fafde H aerereT @ S8 S S
TR

S (R) : T HH 307 B & 719 Al 8, AR 3¢ dg- d Hf Jdan g1
SURIe HUE & 3idre H, - R v et 7 8 w8l Su &1 9u S -
1. Both (A) and (R) are true and (R) is the correct explanation of (A)

(A) 3R (R) T 981 § 3R (R), (A) 1 T arEn @

2. Both (A) and (R) are true but (R) is NOT the correct explanation
of (A)

(A) 3R (R) GHI el &, fe (R), (A) ¥ 5 sarem 78 &
3. (A)istrue but (R)is false

(A) TR B, ft (R) W T R
4. (A)isfalse but (R)is true

(A) WE T 8, A (R) TR

[Question ID = 102][Question Description = 202_7002_AYUR_OCT22_SET2_Q102]
1. 1 [Option ID = 405]
2. 2 [Option ID = 406]
3. 3 [Option ID = 407]
4. 4 [Option ID = 408]

103) According to Acharya Vagbhatta, number of karna rogas is

SfrEf aHETHER ORI @1 TEm 2

1. 24
2. 25
3. 28
4. 31

[Question ID = 103][Question Description = 203_7002_AYUR_OCT22_SET2_Q103]
1. 1 [Option ID = 409]
2. 2 [Option ID = 410]
3. 3 [Option ID = 411]
4. 4 [Option ID = 412]



104) Given below are two statements (According to Sushruta) :
Statement (I) : When Timira attains ragata. Shiramoksha is contraindicated.

Statement (Il) : When Timira attains ragata, Jalaukavacharana is
contraindicated.

In the light of the above statements, choose the most appropriate answer from
the oplions given below.

2 31 U AU MY § (Qyd 3FER) :
FYA (1) o fafEr ® it g @ o R A 8
HUA (11) - o faftr F s € 8, seeaEr Biftg 21

IURI HYA F e B, T e S e 9w @ 9 St

1. Both Statement (l) and Statement (Il) are true
HYA (1) R () TH IO &
2. Both Statement (l) and Statement (ll) are false
HYF (1) AT (1) ST ST &
3. Both Statement (l) is true but Statement (ll) is false
FYT (1) T B, AT HY (1) ST 2
4. Both Statement (1) is false but Statement (ll) is true
HYA (1) 3T &, MFA HYF (1) T4 &
[Question ID = 104][Question Description = 204_7002_AYUR_OCT22_SET2_Q104]
1. 1 [Option ID = 413]
2. 2 [Option ID = 414]

3. 3 [Option ID = 415]
4. 4 [Option ID = 416]

105)  According to Sushruta, in which type of Abhishyanda treatment, ‘Kaumbha Sarpi
is indicated?

YA IR, S & g uer 91 fafteen 3§ @y ot sam &2

1. Vata Abhishyanda / 1d SifH=rg

2. Pitta Abhishyanda / fixi 3ifisg<

3.  Shlashma Abhishyanda / TSI

4, Rakta Abhishyanda / Iqo<
[Question ID = 105][Question Description = 205_7002_AYUR_OCT22_SET2_Q105]
1. 1 [Option ID = 417]
2. 2 [Option ID = 418]

3. 3 [Option ID = 419]
4. 4 [Option ID = 420]



106) Match List—! with List—Il (According to Sushruta) :

List—i List=Il
(Disease) {Treatment)
(A} Shleshma Abhishyanda () Visarpa vat chikitsa
(B) Pitta Abhishyanda (Il) Basti
(C) Vata Abhishyanda (I} Tiktaghrita
(D) Rakta Abhishyanda (IV) Snehana with Kaumbha sarpi

Choose the correct answer from the options given below :

-1 a1 el | ARSI (YT SR |

-1 -l
(s (Farferean Iurm)
(A) wor sfirg () fed aa Rfew
(B) fir afimer (I afe
(C) am arfim= () foggd
(D) o aifierg (V) ey aff grr S
1 g T faeredl & © et OWR 1 99 ST :

1o (AR (B () (DHIV)

(AR=(I); (B)=(); (CH(IV); (D)(1)

(A(II); (BI(IV); (CH{1); (D)=(11)

(AF(1): (B)I); (CH(I); (DHIV)

[Question ID = 106][Question Description = 206_7002_AYUR_OCT22_SET2_Q106]
1 [Option ID = 421]

2 [Option ID = 422]

3 [Option ID = 423]
4 [Option ID = 424]

ol

A W N -

107)  According to Sushruta, which of the following is NOT mentioned in the treatment
of sashopha and ashopha akshipaka?

FYA SR, 79§ | BH-W1 JUHH GE U4 (= g & T8 admn 7 82
Snehana / Hed

Swedana / &gd

Siravedha / FERMEY

Basti / g

[Question ID = 107][Question Description = 207_7002_AYUR_OCT22_SET2_Q107]
. 1 [Option ID = 425]
2 [Option ID = 426]
3 [Option ID = 427]
4 [Option ID = 428]

S

A W N -



108)

Statement (1) :

Statement (I1) :

Given below are two statements :

Emmetropia can be defined as a state of refraction, where the
parallel rays of light coming from infinity are focussed at the
sensitive layer of retina with the accommodation being at rest.

Ametropia is defined as a state of refraction where the parallel
rays of light coming from infinity (with accommodation at rest)
are focussed either in front or behind the sensitive layer of
retina in one or both the meridians.

in the light of the above statements, choose the most appropriate answer from
the options given below.

H4 (1)

U (Il)

eIt b #1 9 ol § o vem &) sEmR
fep0l, St S HIE el ) @ an 281 @ iR T3 Y e
o e R B gt €, R 39 sraw I U e A fsm
Eagecrdip: oG]

el hawr &1 98 siaw § o ue & 9aFRR
fepeol, ot g (el &) @ a1 E, SR up ST fasms
I oEwy I § 91 59 | Hagaeia dog e & om o1 Ui
2 SR 8, U W T Sfaim I

IWRIF YA & Ee o, 31 Ru v et ¥ € udt I &1 997 Fifen
1. Both Statement () and Statement (ll) are true
FYE (1) AR (I S ET &
2. Both Statement (|) and Statement (ll) are false
HY (1) 3T (1) T S &

3. Both Statement (|) is true but Statement (lI) is false
HY (1) T B, AT FUT (1) ITT B

4. Both Statement (1) is false but Statement (ll) is true
FYF (1) A T, AT FUA () T &

[Question ID = 108][Question Description = 208_7002_AYUR_OCT22_SET2_Q108]

1. 1 [Option ID = 429]
2. 2 [Option ID = 430]
3. 3 [Option ID = 431]
4. 4 [Option ID = 432]

109) Which of the following is NOT a type Allergic conjunctivitis?
for o & BT afel® Ea-ndiariey &1 UHR T8l 87
1. Vernal keratoconjunctivitis / 8a fepieIope arsiey
2. Atopic keratoconjunctivitis / T2Ifd fELeid-srdelarsied
3.  Chalamydial conjunctivitis / FARTSTE S-a-helamsied
4.  Phlyctenular conjunctivitis / flaaeTeR S aradiaEied

[Question ID = 109][Question Description = 209_7002_AYUR_OCT22_SET2_Q109]

1. 1 [Option ID = 433]
2. 2 [Option ID = 434]
3. 3 [Option ID = 435]
4. 4 [Option ID = 436]



110) consider on the following :

g w faaR Fife

A.

Herpes Simplex Virus (HSV) is a DNA virus which infects only
humans.

g RPiay 915 (HSV) U8 DNA TR § &l $ad Jal &1
e Tid ST Bl

HSV infection is common; up to 80% of the population are seropositive
for HSV-| antibodies, although most infections are subclinical.

HSV EFH HIH ©; 90% TP wa@dl HSV-l Tiarary & fog
THuTeifed 8, gaft aftrear SeH Heead 2

HSV infection is not very common, only 5-10% of the population are
affected.

HSV THHU TR 4 2% § 78 31a1 8 3R Fad 5-10% SHe
TIfEd 2

HSV-| predominantly causes infection, above the waist (face, lips and
eyes)

HSV-| UHId ebid S3a1 8, R & SW (8, 33 aur 3ifd)

HSV-Il predominantly causes infection above the waist (face, lips and
eyes)

HSV-I| U] Hehliid S3al 8, HHY & HUR (F67, 3ila auT 3iid)

Choose the correct answer from the options given below :

I fou e fawedt o @ et O &1 9T Bife
1. A B, C,DandE/AB C DUJE
2. A BandDonly /Ha6A BUTED
3. AB. CandEonly /a8 A B, CUIE
4. BandDonly /Ha@BUED

[Question ID = 110][Question Description = 210_7002_AYUR_OCT22_SET2_Q110]
1. 1 [Option ID = 437]
2. 2 [Option ID = 438]
3. 3 [Option ID = 439]
4. 4 [Option ID = 440]



111) According to Sushruta which of the following is NOT correct in reference to
treatment of ‘Badhirya'?

Y R, B A A - i & Reftrs & ddy § g A &7

1.

Treatment of Karnashoola, Karnanada, Badhirya and Karna
Kshewada is similar

aufee, Hofe, et @ avfeds @ R TEE )
Treament of pratishyaya is also useful in treatment of Badhirya

Tt & faferen & ufozam 31 fafew oft Iwartt 2

Taila processed with Bilwa and gomutra is indicated in treatment of
Badhirya

foea @ ingz & Wy o e anfief @ fafdrem ® wam mn g1

Treatment of vata vyadhi is not effeclive in the management of
Badhirya

ard =T 1 Fafden arferf & eyt =81 21

[Question ID = 111][Question Description = 211_7002_AYUR_OCT22_SET2_Q111]
1. 1 [Option ID = 441]
2. 2 [Option ID = 442]
3. 3 [Option ID = 443]
4. 4 [Option ID = 444]

112) In scientific writing, the term 'IMRAD’ stands for

391 &% H IMRAD' FT 90 &

1.

2
3.
4

Introduction, Materials, Review and Declaration
Introduction, Methods, Research and Declaration
Introduction, Methods, Resulis, Analysis and Discussion

Introduction, Methods, Results and Discussion

[Question ID = 112][Question Description = 212_7002_AYUR_OCT22_SET2_Q112]
1. 1 [Option ID = 445]
2. 2 [Option ID = 446]
3. 3 [Option ID = 447]
4. 4 [Option ID = 448]

113) In Charaka Samhita the concept of nidana, vyadhi, chikitsa of sadhya vyadhi are
used as example of

e diea d FeF, oY, e anfy &1 fofeen 59s Jeeu & =9 4 ugwm

gl &7

1.

2.

3.

4.

Pratitantra siddhanta / Ufee Rrgr
Sarvatantra siddhanta / Jad3 g
Adhikarana siddhanta / ffi@or Rigrd
Abhyupagama siddhanta / 3JWTH RIgT=

[Question ID = 113][Question Description = 213_7002_AYUR_OCT22_SET2_Q113]
1. 1 [Option ID = 449]
2. 2 [Option ID = 450]
3. 3 [Option ID = 451]
4. 4 [Option ID = 452]



114) In statistics, non-probability sampling includes
wifeges! 8, A-venfafefe dofe T wmfgas
1. Systematic sampling / R Jafem
2. Quota sampling / ®TeT Hufer
3.  Stratified sampling / ®fewEs Jufem
4.  Cluster sampling / 9% FHafe

[Question ID = 114][Question Description = 214_7002_AYUR_OCT22_SET2_Q114]
1. 1 [Option ID = 453]
2. 2 [Option ID = 454]
3. 3 [Option ID = 455]
4. 4 [Option ID = 456]

115) Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : Paired t-test is applied to find the significance of difference
between two means.

Reason (R) : Criteria for applying f-test are (i) Random samples,
(ii) Quantitative data, (iii) Variable normally distributed,
(iv) Sample size less than 30.

In the light of the above two statements, choose the correct answer from the
options given below.

g%a’rgtmmnq%'w&ﬁmﬁ(m & w9 I fofEa § O 589 39 &R0 (R)
FUH:

HUBYA (A) :  UNE t-test W a1 o @ &1 HNE (means) & &9 & 3R
&1 HEg A & fad]

HR (R) © ttest WE TR & HIECNATE (i) FSH ey, (i) Hifeefed se,
(iii) afvusa AT fewieges, (iv) 30 § &0 R & Judl
IURie HYET & el |, e g o ot o | wdl O &1 90 Fifere
1. Both (A) and (R) are true and (R) is the correct explanation of (A)

(A) 3R (R) TFT HE1 § 3R (R), (A) 31 et omem §

2. Both (A) and (R) are true but (R) is NOT the correct explanation
of (A)

(A) 3R (R) B 91 €, B (R), (A) 1 W amen 78 &
3. (A)is true but (R) is false

(A) &1 €, B (R) TR 6T @
4.  (A)isfalse but (R)is true

(A) FE1 FET B, A6 (R) Tel @

[Question ID = 115][Question Description = 215_7002_AYUR_OCT22_SET2_Q115]
1. 1 [Option ID = 457]
2. 2 [Option ID = 458]
3. 3 [Option ID = 459]
4. 4 [Option ID = 460]



116) Who developed Ayush 647

Ayush 64 T8 el fsan
1. CDRI
2. PLIM
3. PCIM
4. CCRAS

[Question ID = 116][Question Description = 216_7002_AYUR_OCT22_SET2_Q116]
1. 1 [Option ID = 461]
2. 2 [Option ID = 462]
3. 3 [Option ID = 463]
4. 4 [Option ID = 464]

117) Which among the following is NOT an IT initiative of Ministry of Ayush?

o 7 & -4 afRed oiftr amgw &1 17 ugw gt 87

1.

2.

3:

4.

Y-Break Mobile Application / Y-§& Hiasd Ul

Ayush Sanjivani Mobile Application / 3Y HefiaH! Hiase Ui
Arogya Setu | R '\iﬁ

Namaste Yoga Mobile Application | T T 'Fﬂﬁ'!?z?l ﬁ'ﬁﬁ%?m

[Question ID = 117][Question Description = 217_7002_AYUR_OCT22_SET2_Q117]
1. 1 [Option ID = 465]
2. 2 [Option ID = 466]
3. 3 [Option ID = 467]
4. 4 [Option ID = 468]

118) The name of first Cabinet Minister to Ministry of Ayush is

3TN HATeW & WuH Higde il drame
1. Sh. Shripad Yesso Naik / 4. #fture owg! 956
2. Sh. Dr. Munjapara Mahendra Bhai / 21, Slo GSTORT 988 WIS
3. Sh.Vd. Rajesh Kotecha / 4. 3% Troim silean
4. Sh. Sarbananda Sonowal / 4t WalHg GHE@

[Question ID = 118][Question Description = 218_7002_AYUR_OCT22_SET2_Q118]
1. 1 [Option ID = 469]
2. 2 [Option ID = 470]
3. 3 [Option ID = 471]
4. 4 [Option ID = 472]

119)  National Commission for Indian System of Medicine (NCISM) is constituted in

e FHIE BR 3feuq fawen omp AfEw (NCISM) e HRifud §37

1.

2
3.
4

2022
2019
2020
2018

[Question ID = 119][Question Description = 219_7002_AYUR_OCT22_SET2_Q119]
1. 1 [Option ID = 473]



2. 2 [Option ID = 474]
3. 3 [Option ID = 475]
4. 4 [Option ID = 476]

120) Journal of Ayurveda Case Reports "AyuCaRe’ is an official publication of
Journal of Ayurveda Case Reports ‘AyuCaRe’ f55e anfieie wemr &7
1. Institute of Teaching and Research in Ayurveda, Jamnagar
2. National Institute of Ayurveda, Jaipur

3. North-Eastern Institute of Folk Medicine, Pasighat

4. AllIndia Institute of Ayurveda, New Delhi

[Question ID = 120][Question Description = 220_7002_AYUR_OCT22_SET2_Q120]
1. 1 [Option ID = 477]
2. 2 [Option ID = 478]
3. 3 [Option ID = 479]
4. 4 [Option ID = 480]





